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Solve the equation. Then check your solution.
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Solve the equation. Then check your solution.
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Find the slope of the line that passes through the pair of points.

12.
(–3, –2), (5, 4)


13.
(2, –3), (–5, 1)

Write an equation of the line with the given slope and y-intercept

14.
slope: [image: image12.emf]2
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, y-intercept: –3


15.
slope: 0.8, y-intercept: 10

Beach Bike Rentals charges $5.00 plus $0.20 per mile to rent a bicycle.

16.
Write an equation for the total cost C of renting a bicycle and riding for m miles.


17.
Graph the equation needed to represent the cost at Beach Bike Rentals.


18.
What is the cost of renting a bike and riding 18 miles?

Write a linear equation in slope-intercept form to model the situation.

19.
A television repair shop charges $35 plus $20 per hour.


20.
An icicle is 12 inches long and melts at a rate of [image: image13.png]


 inch per hour.


21.
The temperature is 38 degrees and is expected to rise at a rate of 3degrees per hour.


22.
A taxi driver charges $5 plus $0.30 per mile.


23.
Martin used some rules to generate the following tables:
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b.
Which sets of data represent a linear relationship? How do you know? Write an equation for the linear tables.


24.
The volleyball team decided to raise money for an end-of-season party by selling school buttons. The costs and the revenue of selling the buttons are shown on the graph below.
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	a.
If the team sells 50 buttons, what will be their cost? What will be the revenue?
b.
If the team sells 50 buttons, how much profit will they make? (Remember that the profit is the revenue minus the cost.)



	c.
If the team sells 100 buttons, how much profit will they make?





25.
The equations below represent the costs to print brochures at three different printers. 

a.
For which equation does the point (20, 60) lie on the graph? Explain.


i.
C = $15 + $2.50N
ii.
C = $50 + $1.75N
iii.
C = $30 + $1.50N
b.
For each equation, give the coordinates of a point on the graph of the equation.


26.
The school drama club is performing its summer play at the community theater. Props for the play cost $250, and the theater is charging the drama club $1.25 for each ticket sold. So, the total cost C, for the drama club to put on the play is C = 1.25N + 250, where N is the number of tickets sold. Customers pay $4 for each ticket, so the total amount collected from ticket sales is T = 4N.

a.
What is the cost if 213 tickets are sold?

b.
How much is the total ticket sales if 213 tickets are sold?

c.
What is the drama club's profit or loss if 213 tickets are sold?

d.
If the total ticket sales are $780, how many people attended the play?

e.
What is the cost of putting on the play for the number of people you found in part (d)?

f.
How many tickets does the drama club need to sell to break even?

g.
The drama club would like to earn a profit of $500 from the play. How many tickets need to be sold for the club to meet this goal?


27.
Marsha said there are two ways to solve the equation  [image: image16.png]
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subtract 15 from each side
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divide each side by 3
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divide each side by 3
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subtract 5 from each side
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a.
Are both strategies correct?  Explain.
b.
Which strategy do you think is easier?  Explain.
c.
How do you know when you can divide first?
d.
Solve this equation in two ways: [image: image23.png]




28.
Solve the following equations for the value of x:

	a. 3x + 5 = 4x – 10

	b. 4x + 10 = 6x – 8
	c. 3x + 10 = 5x

	d. 3x – 11 = 8x – 21

	e. 3(x + 8) = 12
	



29.
Each table in i-v below represents a linear relationship. Do parts (a)-(c) for each table.

a.
Find the slope of the line that represents the relationship.

b.
Find the y-intercept for the graph of the relationship.

c.
Determine which of the following equations represents the relationship.


y = 3 – 4x, 
y = x + 6, 
y = 4x – 3,
 y = 3x – 1.5,

 y = 2.5x
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30.
For each of the lines below, find the slope, and write an equation that represents the line.
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